

About Simpson-type and Hermite-type inequalities

MIHÁLY BENCZE AND ZHAO CHANGJIAN

ABSTRACT. In this paper we introduce new means and prove new relations between classical means based on the Simpson formula and Hermite integral inequality.

1. INTRODUCTION

Let be $0 < a \leq b$, then $A(a, b) = \frac{a+b}{2}$ is the arithmetical mean, $G(a, b) = \sqrt{ab}$ is the geometrical mean, $H(a, b) = \frac{2ab}{a+b}$ is the harmonical mean,

$$L(a, b) = \frac{b-a}{\ln b - \ln a}$$

is the logarithmic mean, $I(a, b) = \frac{1}{e} \left(\frac{b^b}{a^a} \right)^{\frac{1}{b-a}}$ is the identric mean.

In [2], M. Bencze introduced a method to obtain new means and refinements. In this paper we apply this method to Simpson formula and to Hermite integral inequality, to obtain new relations and refinements between classical means.

2. SIMPSON-TYPE INEQUALITIES

Theorem 2.1. If $f : [a, b] \rightarrow \mathbb{R}$ is four times differentiable and $f^{(4)}(x) \geq 0$ for all $x \in [a, b]$, then $\int_a^b f(x) dx \leq \frac{b-a}{6} \left(f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right)$. If $f^{(4)}(x) < 0$ for all $x \in [a, b]$, then the reverse inequality holds.

Proof. Using the Simpson formula we have

$$\int_a^b f(x) dx = \frac{b-a}{6} \left(f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right) - \frac{(b-a)^5}{2880} f^{(4)}(s),$$

where $s \in [a, b]$. If $f^{(4)}(x) > 0$, for all $x \in [a, b]$, then we have the first inequality, if $f^{(4)}(x) < 0$ for all $x \in [a, b]$, then we obtain the reverse inequality. Equality in Simpson formula is obtained for polynomials of degree three. $\square$

Received: 15.10.2007. In revised form: 11.11.2007.

2000 *Mathematics Subject Classification.* 26D15.

Key words and phrases. *Hermite-Hadamard-Jensen's integral inequality, Simpson formula, convex functions.*

Corollary 2.1. If $\alpha \in (-\infty, 0) \cup (1, 2) \cup (3, +\infty)$, then

$$\frac{L(a^{\alpha+1}, b^{\alpha+1})}{L(a, b)} \leq \frac{1}{3}A(a^\alpha, b^\alpha) + \frac{2}{3}A^\alpha(a, b).$$

If $\alpha \in (0, 1) \cup (2, 3)$, then we have the reverse inequality.

Proof. In Theorem 2.1, we take $f(x) = x^\alpha$. □

Problem 2.1. Determine the best constants $x, y > 0$, such that

$$(x+y) \frac{L(a^{\alpha+1}, b^{\alpha+1})}{L(a, b)} \leq xA(a^\alpha, b^\alpha) + yA^\alpha(a, b)$$

for all $a, b > 0$ and $\alpha \in (-\infty, 0) \cup (1, 2) \cup (3, +\infty)$.

Corollary 2.2. If $\alpha \geq 0$, then

$$\frac{3}{L(a+\alpha, b+\alpha)} \leq \frac{1}{H(a+\alpha, b+\alpha)} + \frac{2}{A(a+\alpha, b+\alpha)}.$$

Proof. In Theorem 2.1, we take $f(x) = \frac{1}{x+\alpha}$. □

Problem 2.2. Determine the best constants $x, y > 0$, such that

$$\frac{x+y}{L(a+\alpha, b+\alpha)} \leq \frac{x}{H(a+\alpha, b+\alpha)} + \frac{y}{A(a+\alpha, b+\alpha)},$$

for all $a, b > 0$ and $\alpha \geq 0$.

Corollary 2.3. If $\alpha \in R$, then $3L(a^\alpha, b^\alpha) \leq A(a^\alpha, b^\alpha) + 2G^\alpha(a, b)$.

Proof. In Theorem 2.1, we take $f(x) = e^{\alpha x}$ and $a \rightarrow \ln a, b \rightarrow \ln b$. □

Problem 2.3. Determine the best constants $x, y > 0$, such that

$$(x+y)L(a^\alpha, b^\alpha) \leq xA(a^\alpha, b^\alpha) + yG^\alpha(a, b)$$

for all $x \in R$ and $a, b > 0$.

Corollary 2.4. If $\alpha \geq 0$, then

$$I^3(a+\alpha, b+\alpha) \geq A^2(a+\alpha, b+\alpha)G(a+\alpha, b+\alpha).$$

Proof. In Theorem 2.1, we take $f(x) = \ln(x+\alpha)$. □

Problem 2.4. Determine the best constants $x, y > 0$, such that

$$I^{x+y}(a+\alpha, b+\alpha) \geq A^x(a+\alpha, b+\alpha)G^y(a+\alpha, b+\alpha)$$

for all $\alpha \geq 0$ and $a, b > 0$.

In the following we give some refinements for the proved inequalities.

Theorem 2.2. If $f : [a, b] \rightarrow R$ is absolute continuous, differentiable and $m_1 \leq f'(x) \leq m_2$, for all $x \in [a, b]$, then

$$\left| \int_a^b f(x) dx - \frac{b-a}{6} \left(f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right) \right| \leq \frac{5}{72} (m_2 - m_1) (b-a)^2.$$

Proof. If $P(x) = \begin{cases} x - \frac{5a+b}{6}, & \text{if } x \in \left[a, \frac{a+b}{2}\right] \\ x - \frac{a+5b}{6}, & \text{if } x \in \left[\frac{a+b}{2}, b\right] \end{cases}$, then

$$\begin{aligned} \int_a^b P(x) f'(x) dx &= \\ &= \frac{a+b}{2} \int_a^{\frac{a+b}{2}} \left(x - \frac{5a+b}{6}\right) f'(x) dx + \frac{a+b}{2} \int_{\frac{a+b}{2}}^b \left(x - \frac{a+5b}{6}\right) f'(x) dx \\ &= \frac{b-a}{6} \left(f(a) + 4f\left(\frac{a+b}{2}\right) + f(b)\right) - \int_a^b f(x) dx \end{aligned}$$

and

$$\begin{aligned} \int_a^b |P(x)| dx &= \int_a^{\frac{a+b}{2}} \left|x - \frac{5a+b}{6}\right| dx + \int_{\frac{a+b}{2}}^b \left|x - \frac{a+5b}{6}\right| dx = \frac{5}{6} (b-a)^2, \\ \int_a^b P(x) dx &= 0, \int_a^b P(x) f'(x) dx = \int_a^b P(x) \left(f'(x) - \frac{m_1+m_2}{2}\right) dx, \end{aligned}$$

therefore

$$\begin{aligned} &\left| \int_a^b f(x) dx - \frac{b-a}{6} \left(f(a) + 4f\left(\frac{a+b}{2}\right) + f(b)\right) \right| = \\ &= \left| \int_a^b P(x) f'(x) dx \right| = \left| \int_a^b P(x) \left(f'(x) - \frac{m_1+m_2}{2}\right) dx \right| \leq \\ &\leq \max \left| f'(x) - \frac{m_1+m_2}{2} \right| \int_a^b |P(x)| dx \leq \frac{m_2-m_1}{2} \int_a^b |P(x)| dx = \\ &= \frac{5}{72} (m_2 - m_1) (b-a)^2. \end{aligned}$$

□

Corollary 2.5. If $\alpha \in (1, 2) \cup (3, +\infty)$, then

$$\begin{aligned} A(a^\alpha, b^\alpha) + 2A^\alpha(a, b) - 3L(a^{\alpha+1}, b^{\alpha+1}) &\leq \\ &\leq \frac{5\alpha}{24} (A(a^\alpha, b^\alpha) - G^2(a, b) A(a^{\alpha-2}, b^{\alpha-2})) \end{aligned}$$

and if $\alpha \in (0, 1) \cup (2, 3)$, then

$$\begin{aligned} 3L(a^{\alpha+1}, b^{\alpha+1}) - A(a^\alpha, b^\alpha) - 2A^\alpha(a, b) &\leq \\ &\leq \frac{5\alpha}{24} (A(a^\alpha, b^\alpha) - G^2(a, b) A(a^{\alpha-2}, b^{\alpha-2})). \end{aligned}$$

Proof. In Theorem 2.2 we take $f(x) = x^\alpha$.

□

Corollary 2.6. *If $\alpha \geq 0$, then*

$$\begin{aligned} & \frac{3}{L(a+\alpha, b+\alpha)} - \frac{1}{H(a+\alpha, b+\alpha)} - \frac{2}{A(a+\alpha, b+\alpha)} \leq \\ & \leq \frac{5A(a+\alpha, b+\alpha) (A(a^3, b^3) - G(a, b) A(a, b))}{3G^4(a, b)}. \end{aligned}$$

Proof. In Theorem 2.2 we take $f(x) = \frac{1}{x+\alpha}$. □

Corollary 2.7. *If $\alpha > 0$, then*

$$\begin{aligned} & A(a^\alpha, b^\alpha) + 2G^\alpha(a, b) - 3L(a^\alpha, b^\alpha) \leq \\ & \leq \frac{5\alpha (A(a^{\alpha+1}, b^{\alpha+1}) - G^2(a, b) A(a^{\alpha-1}, b^{\alpha-1}))}{12L(a, b)}. \end{aligned}$$

Proof. In Theorem 2.2 we take $f(x) = e^{\alpha x}$, $a \rightarrow \ln a$, $b \rightarrow \ln b$. □

Corollary 2.8. *If $\alpha \geq 0$, then*

$$\frac{I^3(a+\alpha, b+\alpha)}{G(a+\alpha, b+\alpha) A^2(a+\alpha, b+\alpha)} \leq \exp \left(\frac{5 (A(a^2, b^2) - G^2(a, b))}{6G^2(a+\alpha, b+\alpha)} \right).$$

Proof. In Theorem 2.2 we take $f(x) = \ln(x+\alpha)$. □

3. HERMITE-TYPE INEQUALITIES

Theorem 3.1. *Let $f : [a, b] \rightarrow R$ be a nonconstant convex function, $M = \sup_{x \in (a, b)} |f'(x)|$, then*

$$\begin{aligned} & \max \left\{ (b-a) f \left(\frac{a+b}{2} \right); \right. \\ & \left. \frac{1}{4M} (f(b) - f(a))^2 - \frac{M}{4} (b-a)^2 + \frac{1}{2} (b-a) (f(a) + f(b)) \right\} \leq \\ & \leq \int_a^b f(x) dx \leq \min \left\{ \frac{1}{2} (b-a) (f(a) + f(b)); \right. \\ & \left. \frac{1}{2} (b-a) (f(a) + f(b)) + \frac{M}{4} (b-a)^2 - \frac{1}{4M} (f(b) - f(a))^2 \right\} \end{aligned}$$

Proof. We have the following inequalities:

$$(b-a) f \left(\frac{a+b}{2} \right) \leq \int_a^b f(x) dx \leq \frac{1}{2} (b-a) (f(a) + f(b))$$

(see [3]), and

$$\begin{aligned} & \frac{1}{4M} (f(b) - f(a))^2 - \frac{M}{4} (b-a)^2 + \frac{1}{2} (b-a) (f(a) + f(b)) \leq \\ & \leq \int_a^b f(x) dx \leq \frac{1}{2} (b-a) (f(a) + f(b)) + \frac{M}{4} (b-a)^2 - \frac{1}{4M} (f(b) - f(a))^2 \end{aligned}$$

(see [5]). $\square$

Corollary 3.1. *If $\alpha \in (-\infty, 0) \cup (1, 2) \cup (3, +\infty)$ then*

$$\begin{aligned} & \max \left\{ A(a, b); \frac{A(a^{2\alpha}, b^{2\alpha}) - G^\alpha(a, b)}{2\sqrt{2}\alpha b^{\alpha-1} \sqrt{A(a^2, b^2) - G^2(a, b)}} - \right. \\ & \left. - \frac{\alpha b^{\alpha-1} \sqrt{A(a^2, b^2) - G^2(a, b)}}{2\sqrt{2}} + A(a^\alpha, b^\alpha) \right\} \leq \frac{L(a^{\alpha+1}, b^{\alpha+1})}{L(a, b)} \leq \\ & \leq \min \left\{ A(a^\alpha, b^\alpha); A(a^\alpha, b^\alpha) + \frac{\alpha b^{\alpha-1} \sqrt{A(a^2, b^2) - G^2(a, b)}}{2\sqrt{2}} - \right. \\ & \left. - \frac{A(a^{2\alpha}, b^{2\alpha}) - G^\alpha(a, b)}{2\sqrt{2}\alpha b^{\alpha-1} \sqrt{A(a^2, b^2) - G^2(a, b)}} \right\} \end{aligned}$$

Proof. In Theorem 3.1, we take $f(x) = x^\alpha$. $\square$

Corollary 3.2. *If $\alpha \geq 0$, then*

$$\begin{aligned} & \max \left\{ \frac{1}{A(a, b) + \alpha}; \frac{(a + \alpha)^2 \sqrt{A(a^2, b^2) - G^2(a, b)}}{2\sqrt{2}G^4(a + \alpha, b + \alpha)} - \right. \\ & \left. - \frac{\sqrt{A(a^2, b^2) - G^2(a, b)}}{2\sqrt{2}(a + \alpha)^2} + \frac{A(a, b) + \alpha}{G^2(a + \alpha, b + \alpha)} \right\} \leq \frac{1}{L(a + \alpha, b + \alpha)} \leq \\ & \leq \min \left\{ \frac{A(a, b) + \alpha}{G^2(a + \alpha, b + \alpha)}; \frac{A(a, b) + \alpha}{G^2(a + \alpha, b + \alpha)} + \frac{\sqrt{A(a^2, b^2) - G^2(a, b)}}{2\sqrt{2}(a + \alpha)^2} - \right. \\ & \left. - \frac{(a + \alpha)^2 \sqrt{A(a^2, b^2) - G^2(a, b)}}{2\sqrt{2}G^4(a + \alpha, b + \alpha)} \right\}. \end{aligned}$$

Proof. In Theorem 3.1, we take $f(x) = \frac{1}{x + \alpha}$. $\square$

Corollary 3.3. *If $\alpha > 0$, then*

$$\begin{aligned} & \max \left\{ G^\alpha(a, b); \frac{L(a, b) (A(a^\alpha, b^\alpha) - G^\alpha(a, b))}{2\sqrt{2}\alpha b^\alpha \sqrt{A(a^2, b^2) - G^2(a, b)}} - \right. \\ & \left. - \frac{\alpha b^\alpha \sqrt{A(a^2, b^2) - G^2(a, b)}}{2\sqrt{2}L(a, b)} + A(a^\alpha, b^\alpha) \right\} \leq L(a^\alpha, b^\alpha) \leq \end{aligned}$$

$$\leq \min \left\{ A(a^\alpha, b^\alpha); A(a^\alpha, b^\alpha) + \frac{\alpha b^\alpha \sqrt{A(a^2, b^2) - G^2(a, b)}}{2\sqrt{2}L(a, b)} - \frac{L(a, b)(A(a^\alpha, b^\alpha) - G^\alpha(a, b))}{2\sqrt{2}b^\alpha \sqrt{A(a^2, b^2) - G^2(a, b)}} \right\}.$$

Proof. In Theorem 3.1, we take $f(x) = e^{\alpha x}$ and $a \rightarrow \ln a, b \rightarrow \ln b$. □

Corollary 3.4. *If $\alpha \geq 0$, then*

$$\begin{aligned} & \max \left\{ \frac{1}{2} \ln(G^2(a, b) + 2\alpha A(a, b) + \alpha^2); \frac{1}{2} \ln(G^2(a, b) + 2\alpha A(a, b) + \alpha^2) - \right. \\ & \quad \left. - \frac{\sqrt{A(a^2, b^2) - G^2(a, b)}}{2\sqrt{2}(a + \alpha)} + \frac{(a + \alpha) \sqrt{A(a^2, b^2) - G^2(a, b)}}{2\sqrt{2}L^2(a + \alpha, b + \alpha)} \right\} \leq \\ & \leq \ln I(a + \alpha, b + \alpha) \leq \\ & \leq \min \left\{ \ln(A(a, b) + \alpha); \frac{1}{2} \ln(G^2(a, b) + 2\alpha A(a, b) + \alpha^2) + \right. \\ & \quad \left. + \frac{\sqrt{A(a^2, b^2) - G^2(a, b)}}{2\sqrt{2}(a + \alpha)} - \frac{(a + \alpha) \sqrt{A(a^2, b^2) - G^2(a, b)}}{2\sqrt{2}L^2(a + \alpha, b + \alpha)} \right\} \end{aligned}$$

Proof. In Theorem 3.1, we take $f(x) = -\ln(x + \alpha)$. □

REFERENCES

- [1] Bencze, M., *Inequalities* (manuscript), 1982
- [2] Bencze, M., *New Means and Refinements deduced from Jensen-Hadamard Inequality*, Octagon Mathematical Magazine, Vol. 13, No. 1, April 2005, pp. 154-162
- [3] Alzer, H., *A note on Hadamard's inequalities*, C.R. Math. Rep. Acad. Sci. Canada, 11, 1989, pp. 255-285
- [4] Kesava Menon, P., *Some integral inequalities*, Math. Student, 11, 1943, pp. 36-38
- [5] Mahajani, G.S., *A note on an inequality*, Math. Student 6, 1938, pp. 125-128
- [6] Octagon Mathematical Magazine (1993-2006)
- [7] RGMIA (1998-2005)

MIHÁLY BENCZE
HARMANULUI6
505600 SACELE - NÉGYFALU
JUD. BRAȘOV, ROMANIA
E-mail address: benzemihaly@yahoo.com

ZHAO CHANGJIAN
DEPARTMENT OF MATHEMATICS
BINZHOU TEACHERS COLLEGE
256604 SHANDONG, CHINA
E-mail address: chjzhao@163.com